The diagram represents a sodium atom and a sodium 10n.

(a)(1) Which diagram represents the sodium atom?
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(1) Give the reason for your choice.
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(111) Sodium 1s 1n group 1 of the periodic table. How can you tell this from 1ts electron structure?
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The table below shows the elements on the third period. Sample of each of the elements were burnt 1n oxygen

and the oxides formed were tested to see whether they were acids or bases.

11
Ma
sodimn
23

12
Mg
magnesinm
23

13
Al

27

14
51
silicon
28

16
5
sulphur
32

17
C1
chlorine
35.5

(a) (1) How many electron shells does the third period have? »
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(11) The element with atomic ‘numtfef 10 is neon. Explain in terms of electron arrangement why a new
period starts after neon.

(b)(1) Which three elements in the third period are metals?
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(c)(1) Oxygen is in group 6. What does this tell you about thﬁ number of electrons in the outside sjlell'?
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*Elements T and X are represented by the
symbols sz and \L\X respectively.

(a)What do the numbers 12 and 7

stand for?
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(b) What do the numbers 24 and 14

stand for?
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(c) Give the period for element T and X
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(d) Give the group for element T and X
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(e) Which element T or X is a non metal?
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(f) Identify element T and X and write the electron
configuration of element T and X
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(g) What common name is given to
groups |,Il and VIl elements
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(i) How would the reaction of Lithium with water
compare with the reaction of potassium with
water and give a reason for differences in the
reaction rates
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(a) What determines the order of elements in the periodic table
(b) To which period and group does oxygen belong?
(c) Which elements belong to groups of halogens and alkali metals?

(d) Why is hydrogen not in group 1 although it has one electron in the
outer shell?
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The electron configuration of nitrogen is 2,5.
What is the valence of nitrogen?
(e) How many valency electrons are in nitrogen?

(f) The mass number for nitrogen is 14. How many neutrons are

present in a nitrogen atom? _
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